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5| unsigned __int64 v6; // [rsp+88h] [rbp-28h]
6
7| v6 = __readfsqword(ex28u);
8| _printf_chk(1LL, "Please give me the key string:", a3);

9| scanf("%s", v5);
10| if ( sjub_868(v5) )

11| {

12 sub_C50(v5, v4);

13 __printf_chk(1LL, "Judgement pass! flag is actf{%s_%s}\n", v5);
14| }

15| else

16| {

17 puts("False key!");

18| }

12| return @LL;
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Imports EJ [E? Exports &

V2 = *al;

v3 = al[2];
v4 = al[3];
v5 = al[4];
ve = al[6];
v7 = al[5];
v8 = al[7];
ve = al[8];

result = ©;

vll = al[9];

{
}
}
return result;
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if (30 * vil + -70 * v9 + -122 * v6 + -81 * v7 + -66 * v5 + -115 * v4 + -41 * y3 + -86 * vl -
&8& -103 * v1l + 120 * v8 + 188 * v7 + 48 * v4 + -89 * v3 + 78 * vyl - 41 * v2 + 31 * v5 - (v
&& 71 * v6 + (V7 << 7) + 99 * + - ¥ w3 + B85 * vl + 79 % v2 - 30 * v4 - 119 * v8 + 48
&&5*v11+23*v9+1v6+99*v7+—117*v5+—69*v3+22*v1—98
&% -54 * v1l + -23 ¥ v8 + -82 ¥ v3 + -85 * v2 + 124 * vl - 11 * v4 - 8 * v5 - 60 * v/ + 95
&& -83 * v1l + -111 * v7 4+ =57 * v2 + 41 * vl + 73 * v3 - 18 * v4 + 26 * v5 + 16 * v6 + 77
8& 81 * v11 + -48 * v2 + 66 * v8 + -1@4 * v6 + -121 * v7 + 95 * v5 + 85 * v4 + 6@ * v3 + -85 * v2 + 8@ * vl == -1559
&8& 101 * v11 + -85 * v9 + 7 * v6 + 117 * v7 + -83 * v5 + -101 * v4 + 9@ * v3 + -28 * vl + 18 * v2 - v3 == 6308 )

if (-85 % v9 + 58 * VvE + 97 * v6 + V7 + -45 * y5 + 84 * y4 + 95 * y2 - 2@ * vl + 12 * v3 == 12613 )

15 * v2 - 3@ * v8 == -54400
<< 6) - 120 * v8 == -10283
v9 - 16 * v1l == 22855
v2 + 1@ ¥ v4 == -2944
ve + 1ee * v9 == -2222
v8 - 63 ¥ v9 == -13258

result = 99 * y1l + -28 * v9 + 5 * v + 93 * v6 + -18 * 7 + -127 * S + 6 * v4 + -9 * y2 + -93 * vyl + 58 * v2 == -1697;

from sympy import #*
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f1=-85 % vO + 58 * v8 + 97 * v6 + v7 + —45 * v + 84 # v4 + 95 * v2 - 20 * vl + 12 * v3 — 12613

£2=30 * v11 + =70 % v9 + -122 % v6 + —81 % v7 + —66 % vb + -115 * v4 + —41 % v3 + =86 * vl — 15 * v2 — 30 % v8 + 54400
£3=-103 # v11 + 120 % v8 + 108 # v7 + 48 % v4 + -89 % v3 + 78 * vl — 41 % v2 + 31 % vb — v6 * 64 - 120 * v9 + 10283
471 % v6 + v7 % 128 + 99 * vb + —-111 % v3 + 85 * vl + 79 % v2 - 30 % v4 — 119 * v8 + 48 * v — 16 * v1l - 22855

£5=0 # v11 + 23 % vO + 122 % v8 + =10 * v6 + 99 * v7 + -117 * vb + —69 * v3 + 22 % vl - 98 =
f6=-54 * v1l + -23 % v8 + 82 % v3 + -85 % vZ + 124 * vl - 11 % v4 — 8 * vd - 60 * v7 + 95 =
f7=-83 * v11 + =111 % v7 + =57 % vZ + 41 % vl + 73 # v3 — 18 ® v4 + 26 * vO + 16 * v6 + 77 =
£8=81 * v11 + —48 % vQ + 66 * v8 + -104 * v6 + —-121 * v7 + 95 % vb + 8b * v4 + 60 * v3 + -85
£9=101 * v11 + =85 # v9 + 7 * v6 + 117 % vV + —83 % vb + -101 * v4 + 90 % v3 + -28 % v1 + 18
1199 * v11 + =28 % v9 + b * v8 + 93 * v6 + —18 *x v7 + -127 ®* vb + 6 * v4 + -0 % v3 + -03 =%

r = solve([fl, 2, £3, f4, 5, £6, 7, £8, £9, f111, [v1, v2, v3, v4, v5, v6, v7, v8, v9, v11])

res=[]
for i, j in r.items():
res. append {j)

x=res[0]
res[0]=res[1]
res[1]=x

y=res[5]

res[5]=res[6]

res[6]=y

flag=""

for i in range(len(res)):

flag+=chr(red[i])
print{(flag)

B 2Iv5==FOuRTy_7w@
3. fRNiz4Tsub_C508k ¥15 Flflag.
flag{FOURTY_7w@_42}

vZ + 10 * v4 + 2944
v + 100 * v9 + 2222
v8 — 63 * v9 + 13258
# v2 + 80 * vl + 1559
# v2 - v8 - 6308

vl + 58 # v2 + 1697
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